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insert, indexOf, get, remove, next, prev,
clear, first, print, end
> (@)
Purge
o = > o
LinkedList labels = new LinkedList();
String[] labels = {'a”orer "y | LinkedL st abls = new Linkedl s
“b” labels.add(“b™);
“c” labels.add(“c”);
ngr labels.add(“d”);
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clear, pop, push, empty

>

i=1

int foo(int n){
if (n==1)return 1
int sum = foo(n-1)+n*n;
return sum;

}

«— | sum
n (1)

sum || sum
n (2) n(2)

(Queue)

clear, front, enqueue,

dequeue, empty

clear, put, get

(Map)

int foo(int n){
if(n==1)return 1
int sum = foo(n-1)+n*n;
return sum;

int foo(int n){

push(end_point)
push(n)
entry_point
if(n==1){
returned_value = 1;
goto return_point
}
push(resume_point)
push(n);
n=n-1;
goto entry_point;
resume_point:
int sum = returned_value + n*n;
return_value = sum;
goto return_point;
return_point:
n = pop();
return_position = pop();
goto return_position;
end_point:
return returned_value;




source
target

void hanoi(int n, int source, int target){
if (n == 1) move(source, target);
else {
int middle = 6- source - target; //
hanoi(n-1, source, middle);
move(source,target);
hanoi(n-1, middle, target);

} o(2"

hanoi(int n, int source, int target){
push(n, source, target, middle, end_point)
entry_point
if(n==1){
move(source, target);
goto return_point

int middle = 6-source-target //
push(n, source, target, middle, resume_point_1);
n = n-1; source = source; target = middle;
goto entry_point;
resume_point_1:
move(source, target);
push(n, source, target, middle, resume_point_2);
n =n-1; source = middle; target = target;
goto entry_point;
resume_point_2:
goto_return_point;
return_point:
n, source, target, middle, return_position = pop();
goto return_position;
end_point:
return;




